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Fig a: Interesting cross sections at a 1TeV linear
Collider   [7]  
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Fig d: s-channel bhabha scattering

Fig e: t-channel bhabha scattering
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Figure j: plot of collision energy as a function of position in output file
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Fig L: plot of z-position vs time
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Figure m: full luminosity spectrum, TESLA, 350GeV
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Figure n:   	   phase space before angle cuts  Figure o:   	   phase space after angle cuts  

Figure p: luminosity spectrum with theta angle cuts
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reconstructed spectra, with 1 photon cut

Figure v: top cross section, degraded by true and
reconstructed spectra, with 1 photon cut and de-correlation
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Figure w: true vs estimated center of mass energy, no
photon filter

Figure x: true vs estimated center of mass energy, events
with less than 2 photons

���	��

�����	�����	������������� ���!�"�$#&%'�(�)
*�	+"�,���(�-�

NB��>2�
���2�/�F����>
3

( �F��<); " �)*)*��/�C= R	��%�%D�F�-�$(,�/�

�:(�6�*�� %'�)*��0�/�
�S(
*)� '	< Ó/ �� T
U < >� �� Ó?A < 3  ��
Ó �

2���0�	(]%0�)*��0�/� T 3	< B  �� T B	< T ' � T < U ' �
R��/�/�
�����$*������FR T@> <  	 �� T B	< �	 �� T < �	���



� � ��� ������� �L���
Q �¨
&�+G
�x�,�-�S6������H���/Ri�)( ���)3 >�*������)(�6 �¤
2�d*)�)3M���'�Ò9:���¤
��)(m9:

���?
 �¤
2� ) �H�·����K " �)*)*��F�j���/�/�	(5���0�D>,�/�¤���	(m6��)G
���M���/�/�$�,�'� % *��£������>
*��D�10

34�,���5�)3M�2���-�D�+(2�¤*)�����¤
2�À(
>�3 % �/�!�2%¸��
2�����S(&�!�$3M���0�0�/R
��@	(2�S9:*��/RS6����,%��¤
2� % >
(2�?
2K % >
(2�?
]�$(2�F�D6��j�/�
�����$*��������S(&���,�H(,R]�+(
6�*����$>2�D�H< Q �

5�+G
�=�+*����4%D�S>
(,Rj9;

���$
M�&�����D���2%¸�¤
,���$>,�DG
�����-�;34�2�������?(&�����¤�)G
���0�M�¤
2�ÀR	��%�%D�F�-�$(,�,�&���H�+3 �F���F�L�H<

�H%Ò�������#�,�2�H��� % *�� �0�[3��+� �¤
2����� �/�	(5�����H�+�)(2�D�M�0�[�

����������+*�� % ���/��G2� % *����#�)(��¤
,�£R
�F���F�/�0�
�H���O�¨�?*����+(��/�$(2�0���£�,%�3]�$�H���$(2�/��6��
���/�/�S(&���0��>2�/�¤���	( ���+( % �t%��	>�(2Ro�	(³�i�,�/��KD�$G
�$(,� % �$�����H<ÒN�

��� 9:�)*)* �+*)34�2���x�/�/���D�+�)(
*)� �+*����Ñ�)(2�$*)>,R
� %0�)(,R	�)(
6 %0�)(,�/�i���+>&�����Ä�2%
RS�����/���$�&�+(2�?� % �/�¤9��/�$(4�¤
2�À�0�D>,�=�+(2RM���/�/�S(&���0�D>,�/�0�/R4���2�/�F���H�$<

�H%���>,�$
 � % ���/��G2� % *����!���+(�(2�
� % �j%��	>�(2R��2�¤
,�/�-�À���!�¤
2�À�,�2�H��� % �)*)�����M�2% �-�$G
�F�-�¤�)(
6M�0�]�����D�·�¤�����¤�����+*,>
(5%D�S*�R	�)(
6M�2% ��
,�j�,%��¤
2���$(,�/��6��
*��,�H����9:
2�F�-� % �=�¤
,��RS��������� % >,�¤���	(&� �2%��+*)*&���?(&�����¤�)G
�:G2������� % *����!�·���À�/�	3M�&�����/R4�+(2R4�+�
�
*)���FR �0�M�¤
2�À�$G
�$(,�'�H<

Ó?A



� ������� � � � � � �

Ó 7 . "10 (
�)6	��� ��¡��D§/�D�¤¢���¥F 2� ©� ¤�/�5°��© ©��0�D�0¥/ µ��¡·ª	ª)§$¢!��¥/���0�� ²£§$�0��¥0¶M¦·�/¡F¦·�/¡:�0Á���¥F )�5��¥À ��/��©��H�DÉ,¡$�D°$Ã� ¤�D¡$��¾���¥0¶j�D� ¶����H¥�¡$ `�,«�¬	­�® � T	 	 	 j��� K 1 �4E " K
T	 	 	 K�3  K0NB��E � �

T 7FN ) �L�������	I4<�J�< " �)*)*��F�-��� �H¥$�� ¤�H�0��¥0¶j ¤�/��­�§$¢���¥F������ ²x¬-���0�� ¤�D§$¢�±¸Ç�«=¬
	�Ã���
2ÃHÍ�

Ï$®[��Ï���� � Ó B�B Ó � 
,�0���57 8�8�9:9;9=< 
,�$�&< >2�?*�< ����< >
@28�*���8
R��
�$>�34�$(2�D�H8
%��H�·���/3M�)*)*��/�H< �,R2%

U 7�I4<	E��$
�>
*��0�/��� §$��¥F��¡��2� ¶�¬S­�®��£É,��¦ � ¡¤¶	� � Ó B�B > K T	 	 	T � 
2�0�¤�&7 8
8�9:9:9�K-��*�RS(2�D< ��*��·��< ���D�+(&%��
��R2< �/R	>58�(�*���8��,�-�S6��H�+3��H8�6�>��)(2�������
�)6
8
6������)(2R��Y2S< 
2�¤3M*

� 7 � � 1 �/�S*)*�� % �
�H���¤���	(2�)���2%��¤9=���-� �?>2���-�$(,�¤*)��
,�2���0�/R � (
�)G
�/�H�����¤�=�,%`NB�$(,���H���/�/�����xË � Ç�«�±5¦·�/¡F¦·�/¡:É���°$�5¡$¥0¶�ª �,�D�¤¡Â ¤ ��0�0��¥0¶��0�)¢�§$ª ¡$ µ���H¥� ¤�H��ª �
Ó B�B  K T	 	 
U � 
2�0�¤�&7 8
8	�?(
�)6�3��$< �

����H< >,�¤@2< �/RS>&8

'	7�I4<�J	< " �)*)*��/���
E	< N:<�P��
�S6��F�-�0� ­�§$¢���¥F������ ² � �H¥$�� ��H�'��¥0¶���¥��,«�¬	­�® � T	 	 	T � � �	3 % �)(,�/RM�/�	(,�0�D� % >2�¤���	(5���0�M��
,� ��� Q EÀ9����D@2��
,�	�2�HJ��/. >,�
. �
�����

3	7 ) ����
2P��+(2�/� ; ���$���
���	9;���/C/��N�
,�
��(2�0�	(,� 1 
������	������%��
��E��$���$(,�¤�����'�!�+(2RM��(
6��)(2�F�/�L��� T	 	 	 ��Q8Q��@� 4@O�Z�! �Y4 a Z

> 7 Q ���D*�RS9:��R
�����/�/�$*��/�H���0�
�����¤>2RS��6	�-�S>
�,�#" ¥/°$���D ¤¡Â¥F°·��¥'¶ � ¡Â ¤ ��0�¤±	«j¥/�0� ¶ ²5±
¬�� ¡$�¤�5¡$¥/°À�5�)¢B�%$	 ¤�/�5��¡��D�D©��H��¡B­O��¥F��¡$�&� ��ª ª ��°$�0� � T	 	 
U � 
,���¤�57 8�8
% *)>2�/�E2S< >2���-�?6��S(&< �/R	>58,A�*���8�9:9=���¤>2RS��8�9;9:*����2���$�,�
���'< 
2�¤3M*

A 7�J ��� �/�	*)*�� % �
�H�·�¤���S(2�(' ­)�£�/��¢�� � ¡¤¶	� � Ó B�B > � 
2�0�¤�&7 8
8�9;9:9�KD. *���< @
�$@2< . �&8

B	7 EM��� �/�S*)*�� % �
�H�������S(2�+* �µ´5 	­:��¥/�0¡$�&� ��ª ª ��°$�0���F��¢B� ��¡�¶	� � T	 	 
U � 
2�0�¤�&7 8
8�9:9:9�K0�,�-��.)�/�/�D< ��*��·��< ���D�+(&%��
��R2< �/R	>58�(�*���8�
,�	34��< 
2�¤3M*

Ó/ 7 �!� � � �/�S*)*�� % �
�H�������S(2� ����¢���¡$�� S­ � ¥/�0¡$�&� ��ª ª ��°$�0�x�/��¢B� ��¡¤¶�� �	� 
,���¤�57 8�8	�$*)���$��

���������H< 9�� % < �/�/��(&< �$
&8 ��� � � �

����������H8

Ó	Ó 7FN���E � �È�/�S*)*�� % �
�H���¤���	(2��N���E � � N��/�$

(������+*2IM�����)6�( ( �$�,�
����� T	 	 ,Ó

Ó/T 7�I4< � �)(&� % �-����� ��¡��D§/�D�¤¢���¥F 2����½F§$���D�¤¢B�0¥/ µ���H¥� ¤�/�,ª)§$¢���¥F������ ²x� � �0�¤ ��D§$¢m¡$ ,¡:�$� ¶	���0¥/�0� ¶ ²£��,��0Ã,����ª ª ��°$�0� � T	 	 	T � ����Q E T	 	 	T �2���
�F�/�/R	�)(�6S���
J��/. >,� . �
�����

Ó�U 7�I4<	E��$
�>
*��0�/� � �)(2����� � �	*)*)��R��/�H��� 1 
,I N�
,��������� Ó B�B >

Ó/� 7�I4< � �)(&� % �-��� ���/�5 � , ¤�/�D�¤�D�/��ª °;¡Â¥F°�¢B¡$���?��¥/�H��¡$�D¡�¢B�0 ��0�0��¡$ , ��F� * ­-� � Ó B�B�B�� ��� Q E#EF���¤6���� �2���
�/�F�/R	�)(�6S������� T	�
U � 
,�0���57 8�8�34�
�0��� Ó <
��

���������H< 9=�+�/(,��< �/R	>58,A��$�)(5� % ���28�(�*���8	�0�S� % ���H3]< �&�

Ó '	7 " �S(2�D�+6�(5��� E ���F�-�,���)(
��� 1 ���/�$�)(
�)(���� �5�D�0�)�)�0���H¥
��� ²¸�0���)��¡$ S­�«)� � Ó B�B A&( �)G	�����D��R
�?* E >2�SG
� � �)34�$(,������
2�$�,K0�

58@B A� 	T
U� 	T

Ó 3	7 ( �$(2�ÀP���>
(4�/�¸�H*�< � � � (�E/. )8E � � � �5«-0 * 0B�H�H ,°$¡Â ¤¡:¡$¥/¡�ª²¸�0�)�·��¡$��¾,¡¤¶��D©��D¡�¢B�0É,�H�D¾4�F��¢B� ��¡�¶	� � Ó B�B � K T	 	 
U � 
2�0�¤�&7 8
8S�-���
�D< �/�/��(&< �$


Ó?> 7�I4<	E��$
�>
*��0�/��� �0¡·¢�Ã0¦·�0¡�¢ �0�)¢�§$ª ¡$ µ���H¥$��É��� ��`¶�§?��¥/�0¡ÂÃ �¸� ¶ � Ó B�B A �
��(,���F�D(5�·�¤���S(&�+* � �	3M��>2�D�������S(&�+*
�À�/�/�$*��/�H���0�
� 1 

��������� � �	(&%��/���$(2�F�/�

,�0���57 8�8�9:9;9=< ��*�����< ���D�+(&%��
��R2< �/R	>58 2	�
��6S8������+��B A 8��5�+�2�/�H�H8 ) K0N�
 T	� < �,R2%

Ó?A 7FN:< �#

*�� � � 01�5«32M�0�0�0���H¥4Í$¿ Î�$ � �0¡�¢i¬-���0�� ¤�D¡/©��H�,­:��¥/�0¡$�4����ª ª ��°$�0�#�5� ²¸�0���)� � Ó B�B�3À
,�$�2K0��
&8XB�3  @>�� ' �

Ó B	7=�=< � <��M�,�H(�6�����< �=< " �+(,�	
&�����
�H< Q <	E��0�$9=�����0��NO<FNB�?> % (,�/��� ���/�¸���/�D�¤�D�/��ª)°: �Ã¤ 0¦·¡$�4���D���0�5¬2�0�¤ )���H¥À¡Â  *5* ­B­76B�D°$�0� � T	 	 	T 
2�$�,K0�

58
 ,Ó/ @>�Ó/�	� � 1 

�	�H< ( �$G2<�I

Ó B



� ����� � � �����t���	� � � �4�)��
 � ���

�!�F� $P� � - � ��' ����'1' � �(��*

N!
2��3��+�)(m�H�)3]�À�,%:�¤
2� �2���
.)�/�/�!9��F�-�4�0�i�/�S(2�0�D� % >2�0�4�0� �#�/�S3M�
*��/�0�]���)3M>
*����¤���	(m�,%:�¤
2� NB��E � � ���/�/�$*��F�L���0�
��� �+(,R£�0�
�Y2
�+3M�)(2�À��
,�����/�/�S(&���0��>2�/�¤���	(4�,%¸��
,�:*)>�3M�)(2�2�����¤�j���2�/�F����>
34�
�+(2R#���D� % �$
&�+G	���S>2�¸>
(,R
�/��RS��%-%��/���$(2�`�$���-�?>
3]���D�H(,�/���H<
N!
2���/� % �-�,��R .S>2�����¤���S(&�¸9À�/�-�;�2�,���/R#�)(4��
,�:�,�-��.)�/�/�,�,�-�S�2�,�H�H*�7
�1=�IM�
��� �/�
���-�?*��·�0�/RMRS�����2�/�H�����	(4�/�S3 �,�$(&�H���0��%D����R	������>
�2�¤���S( �
% =L�H� �¤
2�/���=�O�/�
���-�?*��·�¤���S( 9;����
4�$G
�?(2�,�,�2�����¤���	(M9:���¤

�)(4�¤
2� % >�(2�$
��
�L= Q 
&���5���H(M9����H�+�Ò� % �	>2�`�2%�%-���/�D�!�H(,R % ���+3 % �$(2RS�)(
6 ��#G
�F�L�+*)*��¤
2�]�+�)3]�À�2%;�¤
2�M�,�-��.)�/�/�!9��/���4�Y2	�0�$(2R��/R27&3M>2�$
i�¤�)3 � 9=�$�����2�$(,�O%'�)(2RS�)(
6x�¤
2�4�/�S(2RS�������S(&�;>�(2R
�F�:9:
����$
 �¤
,�
*)>�3 �)(,�2�����¤�j���2�/�/�0��>
3 ���/�/�S(&���0��>2�/�¤���	(5�¸�,�-��R	>2�F�=���/�/�?�2�D� % *��À�-����>�*��D���
�H(,RM��
,�$������%�%D�F�/�5�	(4�0�	�M3]�$�H�¸34���$��>2���$34�$(,�'<"Ò>2���������S(&���$< =��+(2R % < =�9��/���]�+(&��9À�/�-�FR �H���¤���H%-���/�0�
���)*)��� % >2�!�������À�0���x�����D*)� ���!��
��������D�H6	�4�0�£��R
R��-���H�J.S>2�����¤���S(£��< =H<&N�
,�
�/��R
�d9��D���0�0�$(���
2�S>
*�R[���$���)*)�Ä���/�/�S3 34��R2���0� %��
� % ���+3 % �$(2RS�)(
6Ä�+(,R �,%-%����/�D���:�Â� ��
,�x�,�-�$*)�)3M�)(5�·���£6�>
�)(,����K0�
�)6i��*��
�D�
��
,�	9�� % >,��>
(,�¤�)*��,�-� % *��$3]�;9:���¤
£�¤
2�#*)>
3M�)(,�2�����¤� ���2�F�/�0�D>�3 ���-�4%'>
*)*)�4>�(2R��/�L���0���
R
�&����R
�����;(2���B���/�?3 �/�S(&���0�D>,�/�¤�)G
�4�0�
�)(�G
�����¤�)6S���0�i�Y2����¤��� % ���H3 ��
5�+�2���H<���(&���0����R �,% % �-�,��R
�$(��)(
6i�)(2�0���+( 34�/�¤
,�
R	�����H*À�'�32	�	(,�	3M��� �)(
G
�����¤�)6
�·�¤���S(È�,% % ���+3
�5�·�¤
,�	*��	6��������!��
,�¨�2���
.)�/�F��9=�$�Ò�
>&��
,�/R %��
��9=���-Ri�0�i�)(�G
�����¤�)6S���0� �¨���)3M�
*��¨34�
R��$*B�,%��¤
2�¨�0�	� �F�-�,�H��K-���/�/�¤���	(,�B�+(2Ri�¤
2�
�)(5%0*)>,�$(2�/�À�2%¸�¤
,�����/�/�S(&���0�D>,�/�¤���	(4�	(M���D<

�!��� �  #��� WJ�����3�L% ��'U*Y�L�&-

N!
2�i3]�+�)(�R	��%�%0���?>
*��¤�������$(2�/�S>
(,���F�-�/R[9À�/�-�i�0�/�$
�(
�����+*�7��¤
,� �F�
R
� % �$��� ����(2�	9X�)( � *��+(
6�>&�+6����M;)��#�#�8 � � (�E ���
���
3]���/���2���	�����¤
2�S(2�2%��
���0�L�+(,�
�Â� 9��?*)*&�$�����	34�À*)�)(
>)2 % �$��
 ��
2�?*)* =-�,�+(2RM�¤
2�j�+>2�¤
2���B�+*��	(,�:9À�-�����MA �	 	 	 *)�)(2�����,%��/��R
��<FN!

���
34���+(&�O��
5��� % >
6
� 9��/����
5�·��R
�F�B�0�]%'�)(2R��5�H(,R4*��+(�6�>5�H6	��� 
&��R¨�0� % �À*������D(,���	(x��
,�j���2���'< ) �
���Y2
�+3 ��*��À9���
5��R � % >�6 �)(
�¤
2� % ���2���5�F�
R
�;�)( % 
�9��D>�(2�	�¤
&���5�0���	@j9À�/�$@2���0�4%'�)(2R27��¤
����¸34���+(2�5R,���'�O��
5���,
&��R % �/�?( 9À�
��@
�/RM�	(M9=�$���,%D�0�$(4���$(2R��/�-�FR
>5���$*����H���
�+(2R#
&��RM�0� % �À�-�$��*����/�/R2<�#>,�B�+�
�,�-�,���$
4����R	�����/�SG
�/�D�)(�6 % >�6S� 9=�$��34�,����*)���¤
2���	>�6�
]�¤
,�:��

���������H7	�����·�0�0�/���H(,R4��>2�H%-���/�À��*��
�D���,%��+*)*&�$���2�F�/�D���2% �¤
2�
R,�·�D� 9��/���£6	�$(,�/�L���0�/R��O�+(,R[���'� �

����������+*j���)6�(���%0�����+(,�/� �+(&�+*)�����FR2<!�:( >�(2�Y2��2�F�/�0�/Rm��
2�$(,�	34�$(,�	( 9��S>
*�R �¤
2�$( 34���+(
�$���¤
,�/�¸(2�$9[�

���������� �
� % >,R
RS�=�/��R
��<
�³RS��%-%'���$>
*�� % >
6x9��Â����%��
���]2S�+3M�
*��/���+(w�$���/3M34�/�0���]�)(m�¤
2�£���/�S*)*)�)(2�����������£�+(
6�*��]RS�����0�D� % >2�¤���	(m� 9:

���$
m���+34�x%D���	3 �¤
2�
% 

9:��R����Y2	�0�$(&�����S(M9:

���$
4���+*��$>�*������FR �¤
,� % �
�2���¸%D������
,�:�5���-�¤���$*����H< Q 
,�$(M9���RS�����/�	G
�F�-�/R#���0��9��ÀR	��R#(2���,@	(2�S9 9;
2�/�¤
2�F�
���5���H34��%D���	3Ñ6�>��)(2����K0���)6�� % 

9:��R��/�	�¤
2�;�)(2�0�/�H%-���$�)(�6 ���/�D�)�,�D���	�
�¸�)(2R��/�/RM�¤
2�;�

����������H<

T	 



� ����� � � ����� 
 � 
 � ��� � ���Q�?� ��� �B�,���;�
Q ���/�S(&����R��/���¤
2��%D�S>2�¸G
�/�/�0���L� �2%¸�¤
2��%D�S*)*��	9:�)(�6��)(2�0�/�H���/�¤���	(&7

� �	(&����R��/���¤
2�À�¤
2��%D�S>2�¸34�	34�$(,�'�O�2%¸�¤
2�À�$*��/�/�0���	(]�+(2R#�2�,�����0�-�S(2� % ��%D���-���+(2R4�$%D�0�/���¤
2�À�/�S*)*)�������	(&<
Q �����+(]���	*)G
���+*)*2�¤
2��%��	*)*��	9;�)(
6 �+*)6�� % �H�H���À�,.S>&���¤���	(&� >&���)(�6 " �·�¤
,�$3]�·�¤����� ; N " =H<

) ���	3Ñ3 �S34�$(2�¤>
3o�/�	(5���/�DG2���¤���	(,��9�����
2�	>�*�R#
&�+G
��7
�
p1 i � �

p2 i � �
p1 f � �

p2 f � �
p � ;���=

9:
2�F�-�¨�¤
2� �
p1

�+(2R �
p2

����%D�F�����i�¤
2�¨�$*��/�F�����	( �+(2R �,�2���¤���-�S( � K034�	34�$(2�D�����+(2Ri�¤
2�x��> % ���/�D�,�D�À�O�+(,RÄ%À����%��/���0�i��
,�$���
�)(����¤���H*5�+(2R4%0�)(5�+*&���D�������H<

Q �����+(]�+*����#9��D���0��7

�
p1 i � 

0
0
e
e
 ,

�
p2 i � 

0
0� e
e
 , the initial states

�
p1 f � 

p1 i sin 	 1sin 
 1

p1 i sin 	 1 cos 
 1

p1 i cos 	 1

p1 i

 ,
�

p2 f � 
p2 i sin 	 2sin 
 2

p2 i sin 	 2 cos 
 2

p2 i cos 	 2

p2 i

 ,
�
p� � 

0
0
p�
p�  , the final states

%D������
,�#�)(
���¤���+* ���D�·�0�����5�+(2Rx�¤
,� %'�)(&�+* ���D�������:R���%0*��F�/�0�/R ������� % ���0�L����� �+(
6�*������4�+(2R�
��`��
,����
2�
�0�S(d%'�)(&�+*534�	34�$(,�¤>
3³���B�)( �¤
2�MC
RS���-�F�/�¤���	(2�
�+*��S(
6j�¤
2���32����H<

E��	*)G	�)(�6j��
,�:G
�F�/�0�
���,.S>&���¤���	(M;���=�� % �SG
�/�
���/���
1 = 0,  

�
2 = �  

;)��
,�:�)(,�0�/�L���/�¤���S( ��� �/�	��*��+(&���L< =
�H%`9���%0>,�-�¤
2�F�����/�5�¤
2���1.	>5�·���/RM�/�$(,�0�/���2%`3]�$�H���$(,�/��6����
E  ��`� Ó # � T ���
�+(2RMR	�)G	��R�� % �=�¤
2�;(2�S3M�)(&�+*2�$(,�/��6��

Snom = � p1 p2 9��;6��/�`��
,��������>�*��'7
�

s�
snom

� Όcot
	 1

2
cot

	 2

2
��9:
����$
M�����+*)6	� % �H�+�����+*)*)�=�,.S>
�)G2�+*��$(,�5�0� �¤
,��������>
*���.	>2���0�/R % � . < "10 (��)6��)(4�-��% * Ó2, 7

�
s�

snom

� Ό1 � 2sin ��	 1 ��	 2 �� sin 	 1 � sin 	 2 � sin 	 1 ��	 2

T,Ó

+ ����_x~�9 9D�@�¨��7 �,��� 9 �5�F]5�
��_

e-

e+

z axis



� � � � � � ����� � � ��� � � � � ��� � � � � � �;� � ��� � � ��� �L������� � � � � �)� �
P���%��
���¨34�
RS��%0�/�)(�6x6�>��)(2����K0���)6Ä���m�¤
5�·�À�H*)*�%��	>,���/�	3M�2�S(2�$(,�D�j�,%��¤
2�¨�$*��/�F�����	(5�'& �+(,Ri�2�,���������	(5�'&,34�	34�$(,�'� 9��/���x�HG2�+�)*�� % *��F�

���?G
�/�L�+*5�H���2���2���$
,���¸9��F�-�À�0�D���/RM�0�4�+(&�+*)���������'���¤�����¤�����+*2�/���-���$*����¤���	(5�¸�)(
G
�S*)G	�)(
6j�¤
2�ÀC/K03]�+6�(
���¤>2R������,%¸��
,�:34�S3 �?(2�D�$7���
,�=��>�3 �,%¸�¤
2�
34�S3 �?(2�D�������,�
�+(2RM�¤
2�;3 �S34�$(2�¤>
3Ñ*��2�H��� !��5<FN�
,���������$*)���/RM�S( �¤
,�=%����/�5�¤
&���5�¤
2�À�	>,�¤6��S�)(
6��&�����¤���$*����������:(,�����D*)���/�S*)*)�)(2�����H<

�:(4�����¤�)3]�·�0�À�2%¸�¤
2�À�0�D>,���F�$(2�0�����,%`3��$�H� �$(2�/��6��=���+( % �À� % �D�H�)(,�/R % �j�H�+�/�)(
6
� Sest = 2pnominal -  	 p

� Strue = p1 +  p2

�=���,%D�0�$(,�
p1+p2

��� >&���/R4�$���H(]�+�
�,�-�E2��)3]���¤���	(]%��
���¤
2�À�/�$(,�������2% 3]�Â�H� �$(2�F�D6�� 0 % >,�59À�=%'�)(2RM�¤
&���5�¤

��� *�����R,���0�4�:��3]�H*)*,�2%�%-���F�
�)(x�·�`*��	9��?(2�/��6������H7����`�����,�-��%D�/�H� % *��#��� >&��� � p1p2

�$���+(]�����¤�)3]�����j%��
� � S ;��$��� % �jR
��%'�)(
���¤���	(,�
S= 2p1p2 – 2p1.p2

�H(,R4�¤
2� U K0G
�F�/�0�
�
R��
�,�,�-��R	>,�/�5���+( % �;(2�$6�*��/�/�0�/RMRS>2�À���4��3]�+*)*&�+(
6�*���< =

T	T


